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Q

Q.1: syl il Mark(s): 5/5
@
A hot-air balloon’s height varies Aaial) agria () pa Laph slhaial) gL, s -
directly as the balloon’s ascent time . (@Bl
in minutes. alaial) Lara L) d ddluall Uajla Vad (is)
Write a direct variation for the ol A
distance d ascended in time ¢,
350 ft. 350 ft.
in 3
' 5 min. ' 5 min.
st bl A AL s o ki bl
v

Learning Outcomes Covered ‘F

o MAT.2.02.07.035
o MAT.2.02.07.037




Q.2: &Syell digliall Mark(s): 5/5

What is the solution set of the Auliall Ja degana A L
Inequality. -7<x+2<4
—7<x+2<4

‘ Learning Outcomes Covered "lr

o MAT.2.02.09.009




Q.3: &1 j9il duol> Mark(s): 5/5

Rewrite the expression using the < omall) LU Baley aujsill duald padiul
Distributive Property. -3(2x—6)
—3(2x — 6)

‘ Learning Outcomes Covered “T

o MAT.2.02.07.008

i —6x+18 i




Q.4: glbhall Olglie Mark(s): 5/5

Solve the inequality |2m + 5| < 15 J2m+ 5| < 15 dlid Ja

‘ Learning Outcomes Covered "lr

o MAT.2.02.09.012

d.



Q.5: **#** BONUS ***** djjLiall J> Mark(s): 4/4

Solve the inequality. ALlial Ja
6(5z—-3) < 36z 6(5z—-3) <36z

‘ Learning Outcomes Covered ;Ir

o MAT.2.02.09.008




Q.6: Ulgball a0 OVolall J>

Solve the equation

k+4— 16
3 =

Mark(s): 5/5

Alslead) JA

k+4-— 16
3 =

‘ Learning Outcomes Covered ;Ir

o MAT.2.02.07.017




Q7: polno piival Sjlgell aiinell dslse

Write an equation in slope—intercept
form for the line that passes through
(2,7) and is parallel to the graph of
y=2x+1.

qﬁibﬂ&hﬁ.ﬂh Jeall ddua, dalaa )
) JAY (gl 5 (2,7) Abiilly
Y =2x+1 S g

Mark(s): 5/5

‘ Learning Outcomes Covered HW

o MAT.2.02.08.007

§y=2x+3




Q.8: db> jo) )gu0 b ddlwo Mark(s): 5/5

Write an equation in function ABMal dla ey Bygea B Alalaa S) =
notation for relation.
'Y
~|o X
Y
v

Learning Outcomes Covered “T

o MAT.2.02.07.035
o MAT.2.02.07.041

g
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=
-
Il
=
|
Ui
o




Q.9: UVslsall 4US Mark(s): 5/5

Translate the sentence into a il ) dlaal) Jgs
formula. M&I‘)‘Jnﬁﬁyb duahu.h sﬁ‘.ﬂ‘ ;’:Al.uu
The area of a circle is the product . T _hdl)

of T and the radius r squared.

‘ Learning Outcomes Covered H{

o MAT.2.02.07.013

A= o




Q.10: wuwlidl J>

Solve the proportion.
27 9

‘ Learning Outcomes Covered ;Ir

27_9
6 n

Mark(s): 5/5

o MAT.2.02.07.024




Q. 11: **+%% BONUS ***** &yl dylliiell Mark(s): 4/4

Find the next three terms of the LAnbad) AUETAL A0 ASMAY agast) as
arithmetic sequence: —-2,2,6,10, ...
-2,2,6,10, ...

Learning Outcomes Covered “»

o MAT.2.02.07.035
o MAT.2.02.07.037

10,14,18, ..

18,22, 26, ..




Q.12: julsilly Slysioll Mark(s): 5/5

Write an algebraic expression for .o Bdll) jalll Ujaa el s
the verbal expression. < J amd) aape Luad

Tow fifths of the square of

a number j.

Learning Outcomes Covered “»

o MAT.2.02.07.002

= L3




Q.13: dJl oo Mark(s): 5/5

Thefunctionw::;o—gn wQﬂiMW:SO—Enﬁiﬁl
represents the weight w in pounds chsiall Juagt duis 3 G 5l Jua YL

of the papers in Bilal’s newspaper ccisiall (a7l dduagh de S daldl)
delivery bag after he delivers n A odgd jRall A
newspapers. Find the zero of this

function.

Learning Outcomes Covered }»

o MAT.2.02.07.034

o

' n=40 o



Q14: 2l duw

Determine whether the percent of
change is a percent of increase or a
percent of decrease. Then find the
percent of change.

original: 9.8

new: 12.1

dows o Hle il daws COlS 1Y) La ads
a3 o Bl Aygle Aucad of Wil Augla
B Lgial) L)

9.8: L)

12.1 ;)

Mark(s): 5/5

Learning Outcomes Covered %

o MAT.2.02.07.024
o MAT.2.02.07.025

19% (gohes 435 dau

percent of increase is 19%

23.4% glud BLS du

percent of decrease is 23.4%

19% (Golass LBl duas

percent of decrease is 19%




Q.15: Sldesdl iy Mark(s): 0/5

Evaluate the expression 2a + (bz +3) uadll dod gl
2a + (b%* +3) a=4b=—-6 sy

Ifa=4,b=—6.

Learning Outcomes Covered ‘IT

o MAT.2.02.07.004




Q.16: ***** BONUS ***** 19l duui Jilwo J>

A limo costs AED 90 to rent for 3
hours plus a 59, sales tax. What is
the total cost to rent a limo for 6

hours?

Learning Outcomes Covered “»

3. AED 90 dabid) 3l ,al cals,
ol dupa 5% Y BLaL clelu 3

Cilagaal)
Baal Aaliws Byl palil Adlaay) daicyl) Lo
telely 6

Mark(s): 4/4

o MAT.2.02.07.024
o MAT.2.02.07.026

AED 180

b.




Q.17: dalhalldosd)] yuley dosd Mark(s): 0/5

Evaluate m+ 6| —14ifm =—8. .m =—8 K\ |m+ 6] — 14 4ad 2

‘ Learning Outcomes Covered ;'r

o MAT.2.02.07.021




Q.18: dhiig Jioy pubiue ddleo Mark(s): 5/5

Write an equation in point-slope ) Jadll ddaillg Jual) Aieas Alalae )
form for the line that passes . i dlag (—1,6) dhailly

through (—1,6) with a slope of% .

Learning Outcomes Covered “»

o MAT.2.02.08.001
o MAT.2.02.08.005

Ey—ﬁ:—(x+1) °




Q.19: psio SlxnY ddleall J> Mark(s): 0/5

Solve the equation adalaal) s
3x —2y =xz+ 5forx. x N 3x—2y=xz+5

Learning Outcomes Covered %

o MAT.2.02.07.024
o MAT.2.02.07.027




Q.20: 5a5lg)l Bghzll SVslse Jo

Solve the equation.

1_2,
4”3

‘ Learning Outcomes Covered ;'r

Mark(s): 5/5

Al A
1 Zb
4”3

o MAT.2.02.07.016




Q.21: (uibidiy you psdiwe ddleo Mark(s): 5/5

Find the equation of the line that (Ol Jlal) aufical) Aslas 22

6,—2),(83
passes through the pair of points. ( ).(8,3)

(6: _2)! (8! 3)

Learning Outcomes Covered }%

o MAT.2.02.08.001
o MAT.2.02.08.004




Q.22: ***** BONUS ***** gJlJ| jui Jaso

Find the rate of change for the

Mark(s): 4/4

b Aliaal) b3 ) AN il Jiea aaf

linear function represented in the .Jgnad)
table.
Houres 1 2 3 4 (h) Jandl el 1 2 3 4
Worked(h)
Money Earned 5.5 |[11.00 | 16.50 |22.00 il Judl | 55 11.00 | 16.50 |22.00
(AED) (AED)

‘ Learning Outcomes Covered }'L

o MAT.2.02.07.035

AED 6.5 /h




Q.23: (1920l 2o aiiaell gbolis Mark(s): 5/5

Find the x — intercept and x 925‘11 25aal) pa Gpalalall) a4
y — intercept of the line graphed. Sl JRaal) patiall y wi)ﬂ Jgaally
by
dx+3y=12|
\\.
T o \ X
AN
\

Learning Outcomes Covered F

o MAT.2.02.07.024
o MAT.2.02.07.027
o MAT.2.02.07.031

.3 A X Jsnapaphliilly 4 sa Y )gaa pa phaldll)

y — intercept is 4, x — intercept is 3.

y —intercept is 3, x — intercept is 4.

.3 Jhx”a.a&n&hlﬂ"ﬂbto‘gbywe&hW‘

y —intercept is 0, x — intercept is 3.

0 & X )5ne paphaldilly 4 g8 y )sna pa pdaldll)

y-intercept is 4, x — intercept is 0.




Q.24: ghiollg Jroll pudiuwe ddlee Mark(s): 5/5

Write an equation of a line in slope- hially Jeall disay paiiie dlalea i)
intercept form with a slope of 5 and Y ) jsaall (ya ahially 5 dlia
y—-intercept of 8. . 8 sl

‘ Learning Outcomes Covered H{

o MAT.2.02.08.001




Q.25: ***+% BONUS ***+* (511 JS (6 juftin wle Saizd (il c¥alsall J> Mark(s): 0/4

Find the value of x so that the el it JCEND (5 LS x dagd aa

figures have the same perimeters.

Sx+1
2x 3x+4

w19 2X+5

Learning Outcomes Covered “»

o MAT.2.02.07.019




